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2: Project Description 

Topic  Business Model 

Question  Please explain how you have valued DSM as £2/kW. 

Notes on 

question  

 

Answer  This figure came from the lower range of cost savings associated with DSM 

in the Transform model which is based on the experience of all GB DNOs. 

The lower value has been chosen as we assume a high volume of low value 

events occurring in this project rather than vice versa. This is a project 

assumption which will be validated as part of the ongoing trials. 
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